GCSE Maths Takeaway 3 - Reading Scales

What number is the arrow
pointing to?
40 50 T 60

C) 50.5 D) 54 ... 3

What number is the arrow
pointing to?
4 T 5 6

A) 4.6 B) 4.75

C) 4.5 D) 4.3 . 1

What number is the arrow
pointing to?

GTTB

A) 6.9 B) 6.8

C) 675 D) 7.1 o
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Correct Answer: ABCD

Explanation:

Correct Answer: ABCD
Explanation:

Correct Answer: ABCD
Explanation:



Correct Answer: ABCD
What number is the arrow .
et Explanation:
pointing to?
T 20:00 22:00 ..........................................................................
A) 1950 B 1000 | s
C) 1990 D) 1975 | Autegraph | e

Correct Answer: ABCD

What value does this scale Explanation:
show?
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